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QUESTION 1

Which three situations can result in a kernel panic if the required paramaters are set appropriately? (Choose three.)
A. panic if disk I/O rate exceeded an administrator-specified limit

B. panic if a task hangs on disk read for more than an administrator-specified limit

C. panic when CPU utilization remains at 100% for more than an administrator-specified limit

D. panic when out of memory

E. panic if a task hangs on disk write for more than an administrator-specified limit

F. panic if network I/O rate exceeds an administrator-specified limit.

Correct Answer: ABC

QUESTION 2
Which statement is true about BTRFS RAID?

A. Btrfs RAID is a multi-disk software RAID providing the same functionality as a software RAID created using the
mdadm command.

B. Btrfs RAID is block device RAID.
C. Btrfs RAID is mirroring block devices.
D. Btrfs RAID just ensures that for every block, there are "x" number of copies.

Correct Answer: B

QUESTION 3

Which two statements are true about OCFS2?

A. It always requires TCP network connectivity.

B. It never requires TCP network connectivity.

C. It requires a dedicated private network.

D. It requires TCP network connectivity for the cluster.

E. It requires an installation of the ocfs2-tools RPM package.

Correct Answer: AC
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QUESTION 4

Which three statements are true about the contents of the /etc/ocfs2/cluster.conf configuration file?
A. The heartbeat stanza is required only if local heartbeat mode is enable.

B. All stanzas must start at the first column and end with a colon.

C. All parameters must start after a tab.

D. A blank line must demarcate each stanza.

E. A blank line must demarcate stanzas and parameters.

F. All parameters must start after a tab and begin with a colon.

Correct Answer: CDF

QUESTION 5

Which three statements are true about the crash utility in Oracle Linux?

A. It can analyze only dumps produced by the kdump facility.

B. It can analyze the state of the system while it is running.

C. It can analyze only dumps produced by the Linux Kernel Crash Dumps (LKCD) facility.

D. It can analyze the state of the system after a kernel crash has occurred by using the memory image file produced
from the crash.

E. The kernel-debuginfo and kernel-uek-debuginfo packages are not included in the Oracle Linux distribution.

Correct Answer. ABD
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